49

BIZFE / Product Number

AUXE - -
Hti& W~Ti%k D~Fi&
H dimension W dimension D dimension

F view

A

TILZRE

Aluminium Feet

B HE R4L# / Original trapezoid head screw specification

BT =HJ)LT—74 / Technical Datall

#E{ThILY / Recommended torque : 0.3N*m ~ 0.6N*m

EXP/H)

Screw (P or H)

(AR

Color Type

¥ERLINZ / Components

E‘ 75X / Phillips 73f / Hexagon—socket
f8{L#k / Color Type
E28 / Code a—4—7J0w% / Corner block B4R / Frame $Hs38— / Top cover | TH/5— / Bottom cover
SS < )L1\— / Silver < )L7\— / Silver < JLsS— / Silver < )L13— / Silver
S B 7594 / Black < )Ls3— / Silver 2 JLsN— / Silver < JLsN— / Silver

No. 2 %R / Part name #= / Pcs #&E / Material & - R / Color-Finish
q I—+r—Jovy 4 TILEA A XXk ADC12 DILIN— | TSy - BE (NEELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) B4R 4 TILSIRH A A6063S-T5 DI —E I (NARRILIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
) HN— 1 7 LSHR A1100P DIN—ZK (RESELE)
Top cover Aluminium A1100P Silver*Painted (Conductive inside)
4 Thi— : T ILSHR A1100P DIIN— K (REERLE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
5 TR A T &YV T A DILIN—T LI &TTVY
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
6 EMCY—ILEA R 7wk 8 LEMMM (UL4V-0) ARy HTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
; EfHE R (M3 x 8) " % ZUILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
8 E{HE X (B M3 x 5) i &% =9 ILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
BATE R UNf2EM4 x 8) 4 % =fEIAA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
®

~

f %/ Title
TAKACHI| B%XK#HShFERTE EMCS — JLRRwA R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
&3/ Approved R/ Checked H[/Created F42& /Product number RE/Scale
iR £ fiE) A AUXE149-60-36A1-0101 p v
{ER B /Date 2025/06/16 1/ 6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




352

B view

D view E view C view F view
600+0.8
A-A(1:75)
A —
d; g o ;] (® . @)
o
5
2 T !
™
B B
| \J D ‘ p LQ o q
A —
127
C-C(1:75)
A view .
C C
e | |
o
H 2
o ™
A
-— —
o
o o lo ol
553

B-B(1:75)
o~
A

4/ Title
500 TAKACHI] #st&utahFEMTE EMCS — LR w4 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:7.5
g I i AUXE 149-60-36AC1-C1 01 _
~N— /Page
{ERX B /Date 2025/06/16 2 /6
AREDOEFEIIRISHIDTFEMRITEIZFELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥ / A Frame

550

148

14

5 2-M3FAHSR
2-M3 Countersunk

—

M3

X TEEHE4HE / Same on the other side.

M / Front side

B {l#x / B Frame

==

e

M / Front side

141.7

22.5

33

3.3

ZEM / Back side

%M / Back side

4/ Title
TAKACHI| BXEH4hFERIE {81 @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
1:4
iR : Bk e
H149 — W600 {ERX B /Date 2024/05/15 3/ 6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {8l#® / C Frame

310 225
™
="
@
™
@ ~
< hars
3
@
™
\:‘
™
<
e o
5 5
2-M3FAHIR
Z M / Front side 2-M3 Countersunk E& / Back side
X RXEEFEHE / Same on the other side.
D {8l#% / D Frame
(e
1
M / Front side B g ZZM / Back side
4/ Title A —
A ==
TAKACHI| BXEH4hFERIE {81 @} [ —
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H149 - D360 e B /Date 2024/05/15 4 /6
AERTEOZEHEIRA LM INTFEMTEITRBBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
g 8

589.4

570

M / Front side

E#h~ti% / Max dim. 553+0.8

6-24.5

E#~ti% / Max dim. 313+05

2
/5 D
RE—HMAY
Surface protective film side
& e
ZEM / Back side
4/ Title A —
A == N
TAKACHI| BASHIAFEHRIX HN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
T = - RE/Scale
K 5B/ Approved 1 [X]/Checked #1[X]/Created R /Product number
15
iR £ 4t R—/Page
W600 — D360 {ER B /Date 2022/11/16 5/ 6
AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




349.4

4-R14.7

330
301.4

589.4

570

541.4

6-24.5

M / Front side

H¥ti% / Max dim. 313+05

E#h~ti% / Max dim. 553+0.8

2
29 PAN
REEL—AY
Surface protective film side
\& WV
ZEM / Back side
4/ Title A —
PN .
TAKACHI| BASHIAFEHRIX THhin— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
15
iR E3 B —
W600 — D360 {ERX B /Date 2022/11/16 6 / 6
AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




